

Manufacturer & Exporter Of The Best Quality Rapid Diagnostic Test Kit.







About us



We MNPMEDITECH PRIVATE LIMITED, is an Indian WHO-GMP, ISO 13485:2016, ISO 9001:2015 & CEcertified company engaged in R & D, manufacturing & Marketing of in vitro diagnostic kits in the range of Rapid test kits for detection of hCG in pregnant women, Malaria Pv/Pf Antigen test, Malaria Pan/Pf Antigen Test, Typhoid Antibody test, HIV 1 & 2 Test, Syphilis Test kits etc. MNP Meditech products are manufactured at its state of the art facility, covering an area of 10,000 sq ft, the unit is located at Plot No. 388, Sector 68, IMT Faridabad, Haryana INDIA, equipped with high-end sophisticated quality instruments in QC and R&D rooms and are following international relevant norms, ISO 13485:2016 (latest regulations for medical devices), ISO 9001-2015, FDA. We also get our quality standards audited by WHO compliance third party so that each of our devices match the highest standards of the market and provide the confidence to the user for its accuracy and results. We have in-house R&D facilities to develop new products suitable to the Indian as well as International market. The products developed by us have been well accepted in the market due to its quality, prices, regular availability and services.

Our facility is well equipped and has a team of experienced persons specialized in IVD industries. Our aim is to provide products of excellent quality at affordable prices with the best of services.



Our complete range of diagnostic products is tested on diverse parameters of quality to present high-performing products to clients. We are based in Faridabad, Haryana (India), the company is professionally managed by Mr. Mohan L. Yadav & Mr. Naveen Pathak, Company's Founder, have years of experience and practice in handling the market.



01. SURE IT RAPID MALARIA PF/PV ANTIGEN TEST KIT



PACK DETAILS SPECIFICATIONS One test kit contains: Suitable for Clinical, Hospital 1N Test device, 1N Loop & Home Use. 1N Desiccant Sensitivity: 100% One outer carton contains: Specificity: 100% 25 N Test Kits, 1N Pack insert Sample Type: (Leaflet), 1N Buffer bottle Whole Blood/Serum/Plasma **One Shipper Contains:** Shelf Life: 24 Months 80 outer cartons Pack Size: 25 Kits (2000 Test Kits/shipper) MRP: ₹ 130.00 Per Kit

02. SURE IT RAPID MALARIA PAN/PF ANTIGEN TEST KIT



| PACK DETAILS | SPECIFICATIONS |
|---|---|
| One test kit contains: 1N Test device, 1N Loop 1N Desiccant One outer carton contains: 25 N Test Kits, 1N Pack insert (Leaflet), 1N Buffer bottle One Shipper Contains: 80 outer cartons (2000 Test Kits/shipper) | Suitable for Clinical, Hospital & Home Use. Sensitivity: 100% Specificity: 100% Sample Type: Whole Blood/Serum/Plasma Shelf Life: 24 Months Pack Size: 25 Kits MRP: ₹ 130.00 Per Kit |

03. SURE IT RAPID TYPHOID IgG/IgM ANTIBODY TEST KIT



| PACK DETAILS | SPECIFICATIONS |
|--|---|
| One test kit contains: 1N Test device, 1N Dropper 1N Desiccant One outer carton contains: 25 N Test Kits, 1N Pack insert (Leaflet), 1N Buffer bottle One Shipper Contains: 80 outer cartons (2000 Test Kits/shipper) | Suitable for Clinical, Hospital & Home Use. Sensitivity: 100% Specificity: 100% Sample Type: Whole Blood/Plasma/Serum Shelf Life: 24 Months Pack Size: 25 Kits MRP: ₹ 120.00 Per Kit |



04. SURE IT RAPID DENGUE IgG/IgM ANTIBODY TEST KIT



PACK DETAILS SPECIFICATIONS One test kit contains: Suitable for Clinical, Hospital & Home Use. 1N Test device, 1N Dropper, 1N Desiccant Sensitivity: 100% One outer carton contains: Specificity: 100% 25 N Test Kits, 1N Pack insert Sample Type: (Leaflet). 1N Buffer bottle Whole Blood/Plasma/Serum **One Shipper Contains:** Shelf Life: 24 Months 80 outer cartons Pack Size: 25 Kits (2000 Test Kits/shipper) MRP: ₹ 250.00 Per Kit

05. SURE IT RAPID DENGUE NS1 ANTIGEN TEST KIT



| PACK DETAILS | SPECIFICATIONS |
|--|---|
| One test kit contains: 1N Test device, 1N Dropper 1N Desiccant One outer carton contains: 25 N Test Kits, 1N Pack insert (Leaflet) One Shipper Contains: 80 outer cartons (2000 Test Kits/shipper) | Suitable for Clinical, Hospital & Home Use. Sensitivity: 100% Specificity: 100% Sample Type: Whole Blood/Plasma/Serum Shelf Life: 24 Months Pack Size: 25 Kits MRP: ₹ 250.00 Per Kit |
| | |

06. SURE IT RAPID DENGUE COMBO TEST KIT (IgG/IgM & Ns1)



| PACK DETAILS | SPECIFICATIONS |
|---------------------------------|---------------------------------|
| One test kit contains: | Suitable for Clinical, Hospital |
| 2N Test device (IgG/IgM & Ns1), | & Home Use. |
| 1N Dropper, 1N Desiccant | Sensitivity: Dengue IgG 98%, |
| | Dengue IgM 100%, |
| One outer carton contains: | Dengue NS1 100% |
| 25 N Test Kits, 1N Pack insert | Specificity: Dengue IgG 98%, |
| (Leaflet) | Dengue IgM 100%, |
| | Dengue NS1 100% |
| One Shipper Contains: | Sample Type: |
| 80 outer cartons | Whole Blood/Plasma/Serum |
| (2000 Test Kits/shipper) | Shelf Life: 24 Months |
| ,, | Pack Size: 25 Kits |
| | MRP: ₹ 325.00 Per Kit |



07. SURE IT RAPID HIV 1 & 2 TRILINE ANTIBODY TEST KIT



| PACK DETAILS | SPECIFICATIONS |
|--|---|
| One test kit contains: 1N Test device, 1N Dropper, 1N Desiccant One outer carton contains: 25 N Test Kits, 1N Pack insert (Leaflet), 1N Buffer bottle One Shipper Contains: 80 outer cartons | Suitable for Clinical, Hospital & Home Use. Sensitivity: 100% Specificity: 100% Sample Type: Whole Blood/Plasma/Serum Shelf Life: 24 Months |
| (2000 Test Kits/shipper) | Pack Size: 25 Kits MRP: ₹ 110 00 Per Kit |

08. SURE IT RAPID SYPHILIS TEST KIT



| PACK DETAILS | SPECIFICATIONS |
|---|---|
| One test kit contains: 1N Test device, 1N Dropper, 1N Desiccant One outer carton contains: 25 N Test Kits, 1N Pack insert (Leaflet) One Shipper Contains: 80 outer cartons (2000 Test Kits/shipper) | Suitable for Clinical, Hospital & Home Use. Sensitivity: 98% Specificity: 100% Sample Type: Whole Blood/Plasma/Serum Shelf Life: 24 Months Pack Size: 25 Kits MRP: ₹ 48.00 Per Kit |

09. SURE IT RAPID HBsAg (Hepatitis B) TEST KIT



| PACK DETAILS | SPECIFICATIONS |
|--|---|
| One test kit contains: 1N Test device, 1N Dropper 1N Desiccant One outer carton contains: 25 N Test Kits, 1N Pack insert (Leaflet), 1N Buffer bottle One Shipper Contains: 80 outer cartons (2000 Test Kits/shipper) | Suitable for Clinical, Hospital & Home Use. Sensitivity: 100% Specificity: 100% Sample Type: Whole Blood/Plasma/Serum Shelf Life: 24 Months Pack Size: 25 Kits MRP: ₹ 50.00 Per Kit |



10. SURE IT RAPID HCV (Hepatitis C) ANTIBODY TEST KIT



| PACK DETAILS | SPECIFICATIONS |
|--|---|
| One test kit contains: 1N Test device, 1N Dropper 1N Desiccant One outer carton contains: 25 N Test Kits, 1N Pack insert (Leaflet), 1N Buffer bottle One Shipper Contains: 80 outer cartons (2000 Test Kits/shipper) | Suitable for Clinical, Hospital & Home Use. Sensitivity: 100% Specificity: 100% Sample Type: Whole Blood/Plasma/Serum Shelf Life: 24 Months Pack Size: 25 Kits MRP: ₹ 110.00 Per Kit |

11. SURE IT RAPID PREGNANCY TEST KIT



| PACK DETAILS | SPECIFICATIONS |
|--|--|
| One test kit contains: 1N Test device, 1N Dropper 1N Desiccant | Suitable for Clinical, Hospital & Home Use. |
| One outer carton contains: 50 N Test Kits, 1N Pack insert (Leaflet). One Shipper Contains: 40 outer cartons (2000 Test Kits/shipper) | Sensitivity: 100% Specificity: 100% Sample Type: Urine Shelf Life: 24 Months Pack Size: 50 Kits MRP: ₹ 60.00 Per Kit |

12. SURE IT RAPID MIDSTREAM PREGNANCY TEST KIT



| PACK DETAILS | SPECIFICATIONS |
|--|---|
| One test kit contains: 1N Test device, 1N Desiccant | Suitable for Clinical, Hospital & Home Use. |
| One outer carton contains: 10 N Test Kits Shrink wrapped | Sensitivity: 100% Specificity: 100% Sample Type: Urine Shelf Life: 24 Months Pack Size: 50 Kits MRP: ₹ 110.00 Per Kit |



13. SURE IT RAPID OVULATION TEST KIT



| PACK DETAILS | SPECIFICATIONS |
|--|--|
| One test kit contains: 1N Test device, 1N Dropper 1N Desiccant | Suitable for Clinical, Hospital & Home Use. |
| One outer carton contains: 5 N Test Kits, 1N Pack insert (Leaflet) | Sensitivity: 100% Specificity: 100% Sample Type: Urine Shelf Life: 24 Months Pack Size: 5 Kits MRP: ₹ 399.00 Per 5 Kit Pack |

14. SURE IT RAPID MENOPAUSE (FSH) TEST KIT



| PACK DETAILS | SPECIFICATIONS |
|---|--|
| One test kit contains: 1N Test Kit, 1N Dropper 1N Desiccant | Suitable for Clinical, Hospital & Home Use. Sensitivity: 100% Specificity: 100% Sample Type: Urine Shelf Life: 24 Months Pack Size: 3 Strip MRP: ₹ 399.00 Per Pack of 3 |

15. SURE IT RAPID URINARY INFECTION (UTI) TEST KIT



| PACK DETAILS | SPECIFICATIONS |
|---|--|
| One test kit contains: 1N Test Strip (10 mm) 1N Desiccant | Suitable for Clinical, Hospital & Home Use. Sensitivity: 100% Specificity: 100% Sample Type: Urine Shelf Life: 24 Months Pack Size: 3 Strip MRP: ₹ 299.00 Per Pack of 3 |







Surelt





MNP MEDITECH PVT. LTD.

Manufacturer & Exporter Of The Best Quality Rapid Diagnostic Test Kits & Medical Device

Address: Plot No. 388, Sector 68, IMT Faridabad, Haryana 121004 (India)

Mobile: +91 8650908196, +91 9958964004

Email: mnpmeditech@gmail.com | exports@mnpmeditech.co.in

Website:www.mnpmeditech.co.in